L=157.5m

@ 200mm) 154.5m




1.04

1.02

07 05 01

06

2)-2




7 — 1 HEE () FKEEEEISE

U

— TIEEFR




1
200
1
1
272. m3
56. m3
154. m3
0. m3
12. m3
11. m3
53. m3
1
154.
¢ 200
5




10

154.5
1
11
2.0
66
12
2.5m 1
5
13
2.5m 2
86.5
14
1
1
15
1
1
1
16
1
17
1
18
1
19




20

21

m3
22

m3
7

m3
23
24
25




26

1
1
27
t 15cm
312.
28
148. m2
29
As
8. m3
1
30
( )
10cm
111. m2
31
10cm
111. m2
32
Asdcm
111. m2
33
( )
30cm
20. m2
34
( )
As5cm
20. m2
35
15cm
16. m2
36
( )
20cm
16. m2
37
( )
As5cm
16. m2




38

.409

39

40

-2

-2







m3

0.28m3

m3




m3

0.28m3

m3

RC-40

1.2

m3




m3

@t

6.3km
1.25 m3

20mm(
1.25 m3

(4t

6.3km
1.25 m3

(

0.28m3
1 m3




m3

@t

6.3km
1.25 m3

20mm(
1.25 m3

(4t

6.3km
1.25 m3

(

0.28m3
1 m3

10




m3

(4t
3km
1.11 m3
@t
3km
1.11 m3
(
0.28m3
1 m3
)
(
1.11 m3

11




m3

(4t
3km
1.11 m3
(4t
3km
1.11 m3
)
(
1.11 m3
(
0.28m3
1 m3

12




m3

(4t
6.3km

m3

1

m3

13




200mm

14




¢ 200

¢ 200

15




10

50

50

150

16




11

2.0

2.0

2.0

2.0

17




12

2.5m 1

2.0

2.0

2.0

18




13

2.5m 2

10
2.5
11
2.5
12
(
3.5

19




14

13

14

20




15

15

16

21




16

T-25 & 600
(® 600)
25mm
100
@ 600x 100
1 600
@ 600x 900x 600
1 300
@ 900x 300
1200
d900x 1200
17
1
20cm
2
1 (900mm) 3m
® 200

22




17

18

® 200

23




18

T-14 ® 600
(® 600)
25mm
150
@ 600x 150
600

@ 600x @ 900x 600

¢ 600x 900x h300

12
@ 600x @ 900x 1200

00

20cm

19

0 (750mm) 2m

3m

® 200

24




19

( )
2.0 150 200mm 5

( )
2.0 150 200mm 5

T-14
T-14 ¢ 300

25




20

20
1.5 2.0

1
200x 150

1

90° ST

@ 150mm

1
VU-150

1.4

SuS
3

26




21

m3

0.28m3

m3

27




22

m3

m3

1.26

m3

28




23

125mm

3m

® 125

29




24

3
15cm
26.7
4
(
6.4 m2
21
(
0.13m3
4.5 m3
5
1.9 m3
22
(
0.13m3
5.1 m3
30
)
10cm
5.4 m2
31
10cm
5.4 m2
32
Asdcm
5.4 m2
35
15cm
1 m2
36
)
20cm
1 m2
37
)
As5cm
1 m2
23
As
0.3 m3
24
0.9 m3

30




24

31




25

)

300mm 400mm
4
0.9 m2
0.2 m3

32




26

-
« )
50cm
5
9
1.2
10
1.2
11
A (150/170% 200x 600)
1.2
12
C (150x 150x% 600)
1.2

33




27

t 15cm

100

2t

15km

0.07

m3

15cm

100

34




28

m2

m2

13

35




29

As

m3

As

2.35

6.0km

m3

14

36




30

10cm

m2

100mm

120mm

m2

15

37




31

10cm

m2

)
100mm 1

m2

16

38




32

As4cm

m2

3

40mm

m2

17

39




33

30cm

m2

)
300mm 2

m2

18

40




34

As5cm

m2

)1
a3

50mm

m2

19

41




35

15cm

m2

)
150mm 1

m2

20

42




36

20cm

m2

)
200mm 2

m2

21

43




37

As5cm

m2

)1
a3

50mm

m2

22

44




38

45




39

10

12

10km

11

46




40

47




0.28m3

100

m3

0.28m3(

0.2)

[A] = 1

0.28m3

x =

3

48




2 ( ) 0.28m3
100 m3
4 8
4 8
0.28m3(  0.2)
23
100 m3
1
1
[Al= 2 [B]1= 1 0.28m3
[X]= 3 12 [DS] = 8
[C] = 100.000 m3 [D] = 100.000 m3

49




3 ( ) 0.28m3
100 m3
4 8
4 8
0.28m3(  0.2)
23
m3
1
[A]l = 4 [B1= 1 0.26m3
[X]= 3 2 [DS] = 13
[C] = 1.000 m3 [0] = 1.00| m3

50




0.8 1.1t

51




5 ( ) 0.28m3
100 m3
4 8
4 8
0.28m3(  0.2)
23
100 m3
1
1
[A] = 4 6] = 1 0.28m3
1= 3 2 [0s] = 13
[C] = 100.000 m3 [0] = 100.000 m3

52




100

53




7 ( 2.0
100
4 8
4 8
4 8
0.28m3( 0.2)
[A] = 2 2.0 [B] = 3 0.28m3
X1= 3

54




( ) 2.0

100

(

(

(

4.9t (

1

[A] = 2 2.0 [B]= 1 4.9t

55




)1

2.0

100

[A] = 1

e =

1

2.0

56




10 ( 2.5
100
48
48
48
0.28m3(  0.2)
[A] = 3 2.5 [B]1 = 3 0.28m3
[x]= 3

57




11 ( ) 2.5

100

(

(

(

4.9t (

1

[A] = 3 2.5 [B]= 1 4.9t

58




12

) 2

3.5

100

[A] = 1

e =

2

3.5

59




13

60




14

61




15

)
@ 50mm 5 0.4k
3KVA
[ 1]
o [B] = 1.000
[c1=1 3KkVA =2

62




16

63




17 1 20cm
1
@ 1100x 130
1
RC-40
0.23 m3
8
0.18 m3
3
C  1:2)( )
20mm
0.74 m2
24
0.01 m3
4
0.28 m2

64




18

8
0.11 m3

3

( 1:2 )(
20mm

1.23 m2

24
0.02 m3

4
0.46 m2

65




19

20cm

¢ 800mm/2+700mmx 800 h130

1
RC-40
0.19 m3
8
0.13 m3
3
( 1:2 )(
20mm
0.74 m2
24
0.01 m3
4
0.28 m2

66




20

1.5

2.0

[A1=3

1.5

2.0

67




21

0.13m3

100

m3

0.13m3(

0.10)

[A] = 2

0.13m3

x =

3

68




22 ( ) 0.13m3
100 m3
4 8
4 8
0.13m3(  0.10)

[ 1

[A]l = 4 [B] = 2 0.13m3

X]1= 3 [DS] = 13

[C] = 0.000 m3 [D] = 0.00 m3

69




23

As

m3

As

2.35

6.0km

m3

14

70




24

m3

(4t
6.3km

m3

1

m3

71




1 (4t ) 6.3km

at
[ 1

[A]= 1 4t [B] = 6.300 knm

[C]= 2 DID DID ] = 3 0.28n3
[a]=1 { 1

72




2 (4t ) 3km

at

[ 1
[A]= 1 4t [B] = 3.000 knm
[C]= 2 DID DID ] = 3 0.28n3
[a]=1 { 1

73




(

1:2 )(

)

20mm

m2

[A] =

2

1:2

[e] =

20.0

00

mm

74




10

m2

75




200mm

(
200mm
1
[A] = 2 200mm =
- 0] - 2

76




1 (900mm) 3m

( )
1 (  900)3m
1
1
[Al= 4 1 (900mm) 3m [6] = 2
[c1=1 [b]=1

7




0 (750mm) 2m
( )
0 ( 750) 2m 3m
1
1
[A] = 2 0 (750mm) 2m 3m [B] = 2
[€1=1 [0] =1

78




( ) 2.0 150 200mn 5

( )( )
150mm , 200mm 48 ( )
1
( )
) 48 ( )
1
1 300mm [B] = 1 2 2.0 150 200mm
5 o]= 1
[F1=1 (

79




( ) 2.0 150 200mn 5

( )( )
150mm , 200mm 48 ( )
1
( )
) 48 ( )
1
1 300mm [B] = 1 2 2.0 150 200mm
5 o]= 1
[F1=1 (

80




6 125mm

( )
125
1
=2 125mm [B]1= 2
=1 o] = 1
=1 ( ) 3 [6] = 4

81




50cm

100

[A] = 1

50cm

[e] =

1

82




e =

1

83




e =

2

84




10

[A1 =

5

85




12

12

.000

km

86




m3

()

()

2
0.28m3(

0.2m3)

1] =1

2]

87




m3

(D) ()
0.28m3(  0.2m3)
60 80kg
)
)
(
)
1
[J1] =5 [92] = 1
[41 = 1

88




15cm

(D) ()
[
@ 56¢m 20cm
(
(
18
(
1
[p1] =1 [p2]1 =1 15¢m
[51 = 1

89




m2

()

()

12
0.13m3( 0.10m3)

[1] = 1

90




m3

(D) (D)
)
1
1] =1 [32] = 6
[J5] = 1

91




(

)

300mm

400mm

()

()

( )
0.28m3(  0.2m3)1.7t
C )

C )
C )

250mm T-25
C )

92




) 300mm 400mm
) )
[ 1
[Ji] = 3 [32] = 2 (mm) 300mm 400mm
[33] =1 [94] = 1

93




m2

(D) (D)
)
)
)
(
1
P11 =1 [P2] =1

94




(D) (D)

« )
18-8-25(20) 60%

1
1] = 1 [09] =3
1] = 42 18-8-25(20) W/CBO0% [J5] = 2
[J7] =2 [.]B] =1
[N3] =1 [N4] =1

95




()

()

0.22m3(

(

0.16m3)

)

1] =2

96




10

()

()

0.22m3(

(

0.16m3)

)

1] =2

97




11

A (150/170x 200x 600)

1
(D) (D)
( 1
0.8m3( 0.6m3) 4 8 (
4 8 (
4 8 (
4 8 (
4 8 (
« )
18-8-25(20)  60%
RC-40
1
1] =2 2] =1 A (150/170x 200x 600)
[34] = 2 RC-40 Ni] =2 18-8-25(20) W/C60%

98




11

A (150/170x 200x 600)

(D)

(D)

[36] = 1
] =1

N3]

99




12

¢ (150x 150x 600)

1
(D) (D)
( o1
0.8m3(  0.6m3) 4 8 (
4 8 (
4 8 (
4 8 (
4 8 (
C )
18-8-25(20)  60%
RC-40
1
[1] = 2 [92] = 3 C (150x 150x 600)
[04] = 2 RC-40 Ni] = 2 18-8-25(20) W/C60%

100




12

¢ (150x 150x 600)

(D)

(D)

[36] = 1
] =1

N3]

101




13 )
m2
) )
C I
0.28m3( 0.2m3)1.7t )
)
)
« )
)

102




14 ( 6.0km
m3
(D) (D)
C )
)
1
[J1] =2 [J21 =2 DID
[J4] = 4 6.0km

103




15 100mm 120mm
m2
(D) ()
( )
0.28m3(  0.2m3) )
( )
3 4t )
C )
)
C )
)
)
)
C )
C )

104




15

100mm

120mm

m2

(D)

(D)

[1] = 4

100mm

120mm

105




16 100mm 1
m2
(D) (D)
0.11m3(  0.08m3) )
( )
3 )
« )
)
« )
)
)
« )
RC-40
« )

106




16 100mm 1
m2
) )
[ 1
[J1] = 100.000 mm 21 =1
[33] = 6 RC-40 4] =1

107




17 ( )1 40mm (13)
m2
(D) ()
( )
0.5 0.6
[ 1
40 60kg
« )
)
)
)
« )
13)

108




17 ( )1 40mm (13)
m2
(D) (D)
« )
[ 1

[J2] = 40.000 mm 1 P11 =1 1.4m 50mm

[Aa1] = 11 13) [34] = 3 PK-3

[6] =1

109




18 300mm 2
m2
(D) (D)
0.11m3(  0.08m3) )
( )
3 )
« )
)
« )
)
)
« )
RM-40
« )

110




18 300mm 2
m2
) )
[ 1
[J1] = 300.000 mm [21 = 2
[33] = 3 RM-40 4] = 1

111




19 ( )1 50mm (13)
m2
(D) ()
( )
0.5 0.6
[ 1
40 60kg
C D
)
)
)
C D
13)

112




19 ( )1 50mm (13)
m2
(D) (D)
C D
[ 1

[J2] = 50.000 mm 1 [P1] =1 1.4m 50mm

[A1] = 11 13) [J4] = 3 PK-3

[J6] = 1

113




20 150mm 1
m2
(D) (D)
0.11m3(  0.08m3) )
( )
3 )
« )
)
« )
)
)
« )
RC-40
« )

114




20 150mm 1
m2
) )
[ 1
[J1] = 150.000 mm 21 =1
[33] = 6 RC-40 4] =1

115




21 200mm 2
m2
(D) (D)
0.11m3(  0.08m3) )
( )
3 )
C )
)
C )
)
)
C )
RM-40
C )

116




21 200mm 2
m2
) )
[ 1
[31] = 200.000 mm [92] = 2
[J3] = 3 RM-40 [34] =1

117




22 ( )1 50mm (13)
m2
(D) ()
( )
0.5 0.6
[ 1
40 60kg
« )
)
)
)
« )
13)

118




22 ( )1 50mm 13)
m2
() (%)
« )
[ 1

[J2] = 50.000 mm 1 1] =1 1.4m 50mm

[A1] = 11 a3 [4] = 1 PK-4

[6] = 1

119




23

m3
(D) ()
60 80kg )
)
)
1
P11 =1

120




24

m3
(D) ()
)
)
« )
25kg
1
[b1] =2 [33] = 1

121




-2

122




/R

T

1

THiERE 157.50 157.5 157.5 m

BF&rT FRLT

$200
BIRMZR—ER(AL~AD)

HEHEI TN v780) 272.15 272.15 272.2 o
BRMmH—ER

FAEMAHET Ao [56.54 56.54 56.5 m
BRI — %% (B1,B3,B4)

W ETHET EEn—7 |154.16 154.16 154.2 o
BRI —E* (B2)

HEHHET X 0.25 0.25 0.3 nf
B IR — 7 (C1,C3,Ch)

FRAETHRET #REhn—7 12.07 12.07 12.1 m
BRI — K (C2,04,C6)

FRAFEET o 11.12 11.12 11.1 of
BRMH—ER

FA R 53.40 53.40 53.4 nf

BEIT EHART

$200
BRMH—ER

VR b = % |154.50 154.50 154.5 m
ANFLEHEZR (15) AFLFHEZEFEM) AFLFHER 35)

<k AT LT ¢ 200[2 + 2 + 1 5.00 5 &
BRMmH—ER

MRS — MR T [154.5 154.50 154.5 m




T

BErT BRIET
©200

TAIRMERE 2.0m

(T e

XHRT 1B 66.00 = 66.00 66.0
TAIRK T 25m  |[FEMHR—EE

XHET 1B 5.00 = 5.00 5.0
TAIRK T 25m  |[FEMHR—EE

XHET 28% 86.50 = 86.50 86.5
TOARRREE R R AR R TEE 1
BErT KELT

BAHIAKEE 1
< H—)VLT

YA ey

FHST1 B~ —L 1
FAST3 o —L 1
FEASTFE )~ A — L 1
$STHEE < R— L 1
< R—)V L

HEIET

NEIERE T 1




T

3
BRAET FRiLT
BufHE—ExR
HREI TN y7k) 0.07 0.07 0.1 nf
HftE—EER
HAMERET 28 0.05 0.05 0.1 m
HftE—EER
A AL 0.07 0.07 0.1 m
BREAET AT
HftE—EER
B GEEE) 1 1 1 f&5FF
HH#IT RET
AR 1 R
AHL ERCGBYHBEERET
[N EE IR 1 R
MR REER 1 X




4
MET S¥EHET
BFRMAH-ER DfE—ER
ARSERREIM (t=15cm) | 312.00 + 0.22 = 312.22 3122 m
BRMHE—ER BE—ER
A EE R A 148.22 + 0.08 = 148.30 148.3 of
BRMHR-ER BE—ER
AsBOE ML 8.14 + 0.01 = 8.15 8.2 m
AHLT ERERT
HRIEE FiEfig gL BIEEE
TANVHA—JE FAER10cm| 111.35 + 0.08 = 111.43 111.4 nof
HRIEE
LERRAE  FAERE0cm| EERICHEL 111.4 of
HRIEE
EIE i bdom| FERICFEIL 111.4 of
N FEAiR R
LB RAE  EARREA0em|  20.05 = 20.05 20.1 of
YN
Ed= HAEZR5em| EECIC[FEIT 20.1 nmf
1HIE 5B B — R
TEsAE  FAUR5em|  16.82 = 16.82 16.8 ni
R
@ s FARIFE20cm| HELIZ[EIC 16.8 mi
PR
K= HAEZR5em| EECICFEIT 16.8 ni




~ v AR — Jb Bl .
< A=V MM~ A—VT M1V FR—L
ANLER OB ik
o 7 fHERPEBA IR F S (¢ 600) T
HERZTER 1L FRRE & B 25mm #H
ALY 600X h100 &
FHBE7 0y (175) ¢ 600X 900 X h600 18
ERE7'0y) (15) ¢ 900X h300 (]
k7 nys (15) ¢ 900X h1200 I
JEER T (15) #em ZepE20em , AR 'y fvn'—Mi B =158
M~ — VBRI 158
15N~ AR — VL Bt R R ©200 1158
2 =V L RS R— VI N3 ELR—V
JEEHR T (BEER3E) v '—ME B 058
BEER 3 E AN v AR — /L HIFL R Bee AR HEE 0200 EET




G

2
S DA N RYAS VS ey R - | 1 S e
NLER N OB i1
2y 7 {(HHETERS E AR - (¢ 600) ]
B 5 1k 9% & H.25mm H
FHIEY 7 $ 600X h150 {8
FLEE7 1) (FEF) ¢ 600 X900 X h600 ]
ELAE7 0yy (FET) ¢ 600 X900 X h300 &l
HREE7 oy (FE) ¢ 600 X 900 X h1200 ]
JEH T (R M) Fefn SEp20em, JERART By s, fvn'—ME B EFT
FHST <~ — L ERE i
RASIAEM ~ A — VEI AL e EE 200 EET
<2 A— )T MU —VT M= R —
/N~ =)L T ES2.0mUA T &
R S R T-14 i




~ N 7N — JL T I = 3
NEIERET (®150)
PN EIE Bt TR ZE1.0mEL b) 1 f&pr
NEIEH~ R — IV XEMRTFE 35 ¢ 200-150 1 A
B FH90° fh4E ¢ 150 1 @
A= kTR Tk 2R
HBEE ®150 1.80 - 0.17 - 0.23 = 1.40 14 m
HE R
BI|& I [E 722 S R (SUSHEY) 1.4 = 0.5 = 2.80 3 @




(¢ 200 mm U EE EHJE 8
. EapEE] N — =
w o~ |lmr| ¥ i | | max +T B L + 9
L= T % i " 8 A 58 Tt b P I Hl E HiE FA fHlhE R 4 10 10 - B
5 i B bk _ 2w Ao ol o o] e NS P e Ny olER0mE]| @ 5 BEE | R’AH RS E3E] ESE] [ B
= . ; R —7 | i E—3 VA ZANE  EEEAF LR POATE - EEA E= ERd B VAN > >
& | A |mF w | T 0. 281 ksl ik ’ 2w e o | B m|® m | B B | REN | EER | ORER |
* Hil < BB I | @ % @ \'< @ < ¢ o % < B ! - (B-20) | (B-25) | (B-30) 4 5 t=15cm
B = lmw| ow E I E E SR | R FAS|FES LB | BEL|SHBEE|BEL|UBR L | AL | BEL | SUBR | BA L | BEL n 5 () () () () () () E =
NO. NO. m m m m m m m m m m m m m m m m m m m m m m m m m m m m m m
180-1 | 1.32 66. 00 | (0.95) (0. 95) (0. 359) 0.95) | (0.95) 0.95) | (0.95) |uEpx2 TV R
180 180-2 [ 1.95 | 1.64 50.20] 15.80 66.00 | 0.60 65.40 [76.30 23.12 42.16 | 4.77 9.37 | 3.75 23.69 [60.05 |23.69 | 47.69 15.01 47.69 15.01 | 132.00 [ 66.00 2.0
180-2 | 2.45 70.00 | (0.95) (0. 95) (0. 359) 0.95) | (0.95) (0.95) | (0.80) |uEfx2 7L R
180 180-3 [ 1.59 | 2.02 64. 70 5.30 70.00 [ 0.60 69.40 [121.70 9.67 77.45 0.25 | 6.15 | 5.06 | 0.74 | 0.52 25.13 [83.25 [32.05 | 61.47 5. 04 61.47 5.04 | 140.00 | 70.00 2.5
180-3 | 1.84 5.00 | (0.95) | (0. 95) (0. 95) (0. 359) (0. 95) 0.95) | (0.95) | (0.80) [mgx2 7L R
180 180-4 [ 1.80 | 1.82 2.30 1.20 1.50f 5.00 | 0.60 4.40 | 3.89 | 2.59 1.96 | 2.33 | 2.22 0.80 | 0.34 1.80 [ 5.69 [ 1.80 2.19 1.14 2.19 1. 14 7.00 5.00 2.5
180-4 | 2.26 16. 50 (0.95) (0. 359) (0. 95) (0.80) |uEfx 2 TV R
180 | mgans-1-1] 2.14 | 2.20 16. 50 16.50 | 1.20 15. 30 32.92 16.99 | 0.25 | 4.45 5.92 [17.24 [10.37 15. 68 15. 68 33. 00 16. 50 2.5
66. 00 7V RIR
1.5m| +EIME 50.20] 15.80 66.00| 0.60 65. 40 76. 30 23.12 42.16 | 4.77 9.37 | 3.75 23.69 [60.05 |23.69 | 47.69 15. 01 47.69 15.01 | 132.00 [ 66.00 2.0
5. 00 7V RR
2.5m| 7L 3 Kb 2.30 1.20 1.50f 5.00] 0.60 4.40] 3.89| 2.59 1.96[ 2.33] 2.22 0.80] 0.34 1.80f 5.69] 1.80 2.19 1.14 2.19 1.14[ 7.00 5. 00 2.5
86. 50 7V RR
2.5m| 7L 3 i 64. 70 5.30] 16.50 86.50| 1.80 84.70]121. 70 9.67| 32.92| 77.45 0.25] 6.15| 5.06] 0.74] 0.52| 16.99| 0.25[ 4.45 31.05[100.49| 42.42| 61.47 5.04 15.68|  61.47]  20.72| 173.00 86. 50 2.5
B (KB #FEFEE (1/c) :1.25 ASEE )
A=Al~A4DE; 272. 15 GEA) iRy (1/c) 111 ASFXE 7% 4 ALp
B=B1~B4nzt 154. 41 B% 8 =b b= 19301 4em | 10cn A=b-c
C=Cl~CEDE 923,19 Cky —c = 9574 4.45m | 3.69nf 8. 141d 53. 40 m
SEEE 157.50m| Al A2 A3 A Bl C1 B2 C2 B3 C3 C4 B4 C5 C6 iiik=
&t AR 1.92m|117. 20m| 21.10m| 17.70m| 1.50m[157.50m| 3.00m 154. 50m | 201. 897 2. 59 i | 32. 79ni’| 34. 88ni| 121. 94nf| 6. 9913 | 0. 2513 | 6. 1517 | 14. 4317 | 4. 4917 [ 0. 5217 [ 17. 7913 [ 0. 59 i | 4. 4511 | 56. 54111 | 166. 23ni [67. 9113 [ 111. 35 0| 20. 05| 16. 8217 |111. 35| 36.87ni| 312.00m [157. 50m




BRET (EhE AaE#)

~ 7 —/LNo H W 1
180-1 ~ 180-2  HEHIE = 1.64 m HEYHIIE = 095 m
s L
iﬁiRgﬁiéE £0.04 | HEHINE | FETHRES dom
ERZRSBEEHS 1010 950 o
i ! | EEYBARE 10cm R = 50.20 m
240 }ggﬁ: o BHey BEW 10em
T ' 0.984
HET
EEO— 5 H 0.884
h
B
-+ BB (ED)
¢ RO — 5 0.100
+ 00— aeney .
:ﬁ)’ BEUhARSG
w20 ] B O snaesremnn
e T B UBAR TR
Bl 7t =1 2V
SITE I Hi G iR
£tz Ll (__1.640 — 0.040 ) X 0.950 X 50.200 76.304 m3
o B T iR S fiEHie i
E#e—7 0.884 X _0.950 X 50.200 42.158 m3
ST RS i R
R —7 0.100 X _ 0.950 X 50.200 4.769 m3
F F10cmET
BAM AR T H G B R
2% 0.416 X 0.950 —( 0.216 X 0.216 X 3.14
W W L
4 )= 0.359 0.359 X 50.200 18.022 m3




BRET (EE RAH)

~ 7 —/LNo H W 2
180-1 ~ 180-2  HEHIE = 1.64 m HEYHIIE = 095 m
SEEEE =0, HEE IS T
;i;ﬂzgg IE;E i 950 i AEFHENS Som L
T BEREWE cm i = 15.80 m
350 300
vy o4 g S h = 0.874
WR
: RENO— S5 4 = 0.624
h
H ——
i b =
BESRESEN fED)
o FEhO— S imE
c = 0.250
o0 ey TBARE
::}] B AR
e ?;2 Lii Qﬁ | FEEE EE20mm 4 =
o D B TBARG R
Bl 7t =1 2V
SITE I Hi G iR
£tz Ll (_1.640 - 0.100 ) X 0.950 X 15.800 = 23.115 m3
o B T iR S S i
o —7 0.624 X 0.950 X 15.800 = 9.366 m3
ST RS fEhiiE R
o —7 0.250 X 0.950 X 15.800 = 3.753 m3
F F10cmET
BAM AR T H G B R
2% 0.416 X 0.950 -( _0.216 X 0.216 X 3.14
W W L
4 )=_0.359 0.359 X 15.800 = 5.672 m3




BRET (EhE AaE#)

~ 7" —/VNo H W 3
180-2 ~ 180-3  HBHIE = 2.02 m HEHITE = 095 m
mpmmie R mssmes km L
- - T EETARE 10em  FEE. = 64.70 m
240 e _ EEW 10em
n N
h = 1.364
1500 WRE
IREIO—S A
. a = 1.260
h
H
HRE _
L g b = 0.004
5 BREREEAH (RED)
¢ 2 ER
k3 1m0 — B . ¢ = 0.100
416 216 Eﬁj | BLOREE.
16D r_ U I ER EE200rmm
T EN B AR R d =
Bl g =1 2V
SITE I Hi G iR
£tz Ll (2,020 - 0.040 ) X 0.950 X 64.700 = [ 121.701 m3
o B T iR S S i
EEn—> 1.260 X 0.950 X 64.700 = 77.446 m3
o B T iR S HE G i
PP 0.004 X 0.950 X 64.700 = 0.246 m3
ST RS fEhiiE R
PP 0.100 X 0.950 X 64.700 = 6.147 m3
F F10cmET
PO R T H G B R
B3 0.416 X 0.950 —( 0.216 X 0.216 X 3.14
W W L
4 )=_0.359 0.359 X 64.700 = 23.227 m3




BRET (EE RAH)

~ 7 —/LNo H W 4
180-2 ~ 180-3  HEHIE = 2.02 m ¥EHIME = 0.95 m
IBREHEE +=0.10 RHINE v L
R | |  BEBHEAS bcm
PEEREEASES t=0.25 | 950 ‘ LJ‘.EE _ 530 m
~ ¥ 1 s0-= BEHPERE 0cm
350 300
3 1 BEE Sesese h = 1.254
1500 4=
’ R a = 1.004
h
H e B AR e -
b R8N — 5 5 b =
d BRERERARH (ED)
P 'S PR ¢ = 0.146
- :glg ETYRRE
416 216 o T —
100 bl M U HEEEE EE200mm d _ 0 104
- HEYRAR LR )
Bl 7t =1 2V
SR g IR fid=
PR EI 2.020 - 0.100 ) X 0.950 X 5.300 = 9.667 m3
o B T g S S ER
o —7 1.004 X 0.950 X 5.300 = 5.055 m3
ST R PEX fEhiiE WEE
o —7 0.146 X 0.950 X 5.300 = 0.735 m3
ST R PER fEhiiE iEE
Z X 0.104 X 0.950 X 5.300 = 0.524 m3
F F10cmET
PO R T H G A B
Z X 0.416 X 0.950 -( 0.216 X 0.216 X 3.14
i e A i
4 )=_0.359 0.359 X 5.300 = 1.903 m3




BRET (EhE AaE#)

~ 7" —/VNo H W 5
180-3 ~ 180-4 HEHIE = 1.82 m HEHITE = 095 m
Ze e TN msemss i L
i 404 FEUHARD 10cm LIEE — 2.30 m
240 188 1 W o (W BEW Wom,
h = 1.164
HET
RENO — S = F
a a = 1.064
h
H
b —
R BESRBET EED
% O — 5 0100
L — :;f BEUARG ©c-
e ?;S Li_ % U SR E200mm
o - T B AR d =
Bl 7t =1 2V
SITE I Hi G fid=
£tz Ll (__1.820 - 0.040 ) X 0.950 X 2.300 = 3.889 m3
o B T iR S fiEHie i
E#e—7 1.064 X 0.950 X 2.300 = 2.325 m3
ST RS i R
E#e—7 0.100 X 0.950 X  2.300 = 0.219 m3
F F10cmET
BAM AR T H G B R
2o 0.416 X 0.950 —( 0.216 X 0.216 X 3.14
i e A i
4 )= 0.359 0.359 X _ 2.300 = 0.826 m3




BRET (EhE FEEHE)

~ 7 —/LNo H W 6
180-3 ~ 180-4 #EAHIE = 1.82 m HEHIME = 0.95 m
RIS 0. kS
ﬁ%ﬁrﬁg :ggg |<— 950 L
o ER = 1.50 m
h = 1.404
RBEL
ENO — S {FFH
h c a =
i
b —
K A c = 1.404
w| M | o
i~ Ll . O% Y S {EE R EE200mm
I B ARGRRE d =
Bl it = =
SITE I Hi G fid=
£tz Ll (__1.820 - 0.000 )X 0.950 X 1.500 = 2.594 m3
S MRS e i
R —7 1.404 X 0.950 X 1.500 = 2.001 m3
Z EF10ecmET
BAEMAHE R T H G B R
LA 0.416 X 0.950 —( 0.216 X 0.216 X 3.14
i e A i
4 )= 0.359 0.359 X 1.500 = 0.539 m3




BRLET (EE AhEE)

~ 7" —/VNo H W 7
180-3 ~ 1804  #EHIE = 1.82 m HEYIE = 0.95 m
mmamtien | GE | smewms sen L
+ 5 50+ BEHRE 20cm R = 1.20 m
400 200 BEARE 15cm
w00, h = 1.004
HET
a IRENO — S 15
a = 0.704
h
H I BREREE M (RED)
FEO— 5 b =
oo :g;}«* BLUARE ¢ = 0300
i ?ég . . O\rg U J(EEIEE E200mm
- BEDARGER d =
Bl 7t =1 =
S T Hi G iR
£tz Ll (__1.820 - 0.100 )X 0.950 X 1.200 = 1.961 m3
o B T iR S fiEHie i
E#e—7 0.704 X 0.950 X 1.200 = 0.803 m3
ST RS i R
E#e—7 0.300 X 0.950 X 1.200 = 0.342 m3
F F10cmET
BAM AR T H G A FyIeEa
2% 0.416 X 0.950 —( 0.216 X 0.216 X 3.14
W W L
4 )= 0.359 0.359 X 1.200 = 0.431 m3




BRLET (EE AhEE)

~ 7" —/VNo H W 8
180-4 ~ (FERS-1-1 #BHIE = 2.20 m #EHIE = 0.95 m
ey % o 50— BESHES bom L
T wonEns nem Lk = 16.50 m
400 BEAREG 15cm
+ h = 1.384
1500 : EEE
FEIO—S{EH
a = 1.084
h
H v BEEERHEN EED
- IRENC— 5 FEFR b =
3 BEREEE &ED)
2o ER
100~ H BEARTS c = 0.016
418 216 ’:‘f 7;k
100 b U R EEE E200mm
- T B N LA ] d = 0.284
Bl 7t =1 2V
SITE I Hi G iR
£tz Ll (2200 = 0.100 )X 0.950 X 16.500 = 32.918 m3
o B T iR S fiEHie i
E#e—7 1.084 X 0.950 X 16.500 = 16.992 m3
ST RS i R
E#e—7 0.016 X 0.950 X 16.500 = 0.251 m3
ST RS i R
2% 0.284 X _0.950 X 16.500 = 4.452 m3
F F10cmET
BAM AR T H G A R
2% 0.416 X 0.950 -( _0.216 X 0.216 X 3.14
W W L
4 )= 0.359 0.359 X 16.500 = 5.924 m3
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L L = B s\ pETey | T B BE 7 v v 7 T N A = B 4 JEE 5 8 | 5
FiE TR L I I N *
é {;IE }L i 600[11 X 60cm! 7 *T V) ’fj: ,q:__ 3—(/,_«5
EHEEHEEEEHEEEE EEEEEE EEEEEEEEEE EE R n 5
2 = (%0 K cm| cm| cm cm cm| m m m m m m m m m m m m cm F = i)
e 25| 45|10 |15 |45 |60 |15 [0.3]0.6[/0.9[1.2][1.5]1.8[0.3[0.6[0.9]1.2]1.5]|1.8] 17 | EX
m [P AEOLRE | fE | fE | fE ) fE ) fE | fE [ A | {E O I O 5 O O m & | mm m EIEIREYAOEE "
B+ )
180-4 2. 15 1 1 1 1 1 1 1 1 2 $200mmfH 1 fEP
) 0 ¢125 ¢ 125mmfH 0 &
E 1 1 tfoltr]Jololtr]lolr]loflofojJolofo[lo]Jo]l1]o]o 1 0 0 2 ¢ 200 ¢ 200mmf] 1 T




A A lw| s * B | Tl 7 i
e 4 L _ . - s e
L EN ES ww oy o|fETey s T H B 7 oo v 7 T NI A = 4 JEE 5 o 5
LR TR ol |9 | i
% {717% }L % 60cm x60cn 7 *T V) 'ﬂ: ,5,—: jz,/gég
ERERESEREEREEREEEEEEEEE EREEEEREEREERE IR RS I
k22 S NE="0) e ecm| em|em | em| enf m | m [ m | m| m|m|m|m|m|m|[m| m| cn F b o
% 25 | 45 [10 |15 |45 [60 |15 [0.3]0.6[/0.9]1.2|1.5][1.8]0.3[0.6[/0.9]1.2]1.5]1.8] 17 [ EX
m el s (A ] ] ] e 1 m | mm m HIFLEE B O E K
(D Bl (¢ 150)
(BEE%) 8-1-1 1 111 200 [H=1.80m 6 200mmAl 1 FEFT
(1) 0 ¢125 ¢ 125mmfA O BEFT
Z 1 0 olololo]lolo]loflo]Jolo]lo]lo]lo]lolofo]lo]o]olfo 0| 1 1 $200 ¢ 200mnfH 1 fEPT




M o x= X A A F R (F&H)

N A 1| £ A % 1 o | AOE 15
i i £ |WEEA . Ao | o T ow oy s | mETE s | E| R & )]
R TR N U N *
é {% }L i“ 60cm x60cm 7 1:]— V) 'ﬂ: ’35 3‘{%
EEERHEEEEHEEEE EEHEE EEH EEHEEHEEEEEEH I R n
7':7_" (550 F‘IE cm cm cm cm cm cm cm m m m m m m m m m m m cm H’ % %
i 2.5[4.5[10 |15 |45 |60 |15 |0.3]0.6]0.9|1.2][1.5]1.8]0.6]0.9|1.2]1.5|1.8] 17 [E=
m | @#pT| A i = 5 5 5 5 O O L 5 5 5 O B | mm | m EEIRE YA
A [6)) ¢ 125mm fEiFT
1802 2.34 | 1 1 1 2 1 1 1 1 2 ¢ 200mm 1 {5
[6)) ¢ 125mm 0 EpT
2 1 1 1lolof2 o1t lo 1t lofoJololofolo]1lol]o]1 0] of 2  200mm ] 1 £




AR v A" VI -3 (= 7 S HOO% (¢ 300)
5 o
N A - ES £k =
v 8
7L 7L i 3 HEHE (R
% E
% T f z| 5 Ao "— L \ SRS
X < R i G| =
=2 = h=2. Omit o JEE 90° HO. 6(HO. 9|H1. 2|H1. 5| H2. 0| H2.5 |H3.0[ ¢ 200| & 200| ¢ 200
h=2. 0nll F | ~3. 5mBd F T-14|T-25 KT | sT |15° |30° |45° [60° [75° |90° [wLs| DR | mvu | mMvu [ mvu | mvu] mvu | wmvu | mvu |9osT| vu | cap
m_ | fEpr | f&PT 2 5 S .5 55 . 5 55 5 5 5 5 O O W A
180-1 1.21 1 1] 1 1 1 1
180-3 1. 74 1 1] 1 1 1 1
it 2 0 2l 2ol 2l 1]lofloflolo]lo]Jolo]lo|l1|]o]o] 1|1 0 0 0 0 0 0




KEOIA ¢ 200mn  HUHE OFAR ¢ 125mm (VU) {EARRTE — R E EE  AHEH
M H A
B N TGKBE | 75KPE | AT | ER [wk-vd | KE Xz g | Fo7 (B-30)-51, —4
H e | WHITR (m) (m) |weox%| (SHR) (PE) (ST) (Ca) HEF hyh-& M THIAR i} =
(A90) (30" ) (m) (m) (m) (1)
1802
180 180-3 1 0.98 0. 65 L0 L1 Lol 1 1 0.11 0.22 0.75 0.08 | HiseiR 7o v /0 (I 0.12m)
TR G IR
0.07 ni
AR
0.05 ni
7% 1
0.07 ni
TR | | SR RAEIR (&h%) |ASH:
1f#F7|  0.98m| 0.65m| 1.00m 11 1m 11 1E| 0. 1lm 0.22m| 0. 75m 0. 08nf 0.0l ni




RE S 1B I TR R E

<~ 7"—/LNo

180-3 ~ 180-4 EE(@) = 1.20m HEMW) = 095 m
Tay it (h) = 0.60m X2 = 1.20m ZovZiED) =  0.15m
\ ' ‘ '
N
(\_\_/
<« L» =
h \I Ty
L ANLYENESE Y
No. 180-3 l | No. 180-4
A-A" Wi X (B - 152 1H)
‘}150% 1123(())0 ;’150‘ TT L
vy y—t 7 jé;i
ETre - Latatata B3
fE Rl g H X
IR A A TR IR
= 1.200
)t
1.200 X 0.950 X 4 = 456 = 5 A
RH B R Oy R | (S0 EX:0.60m)
.20 m 1.2m
PR T a s R RS E I E R 0760m)
.20 m 1.2m
B RT 0o i
(A HERE) .20 m 1.2 m
HZEBERT 0 i
(A e E) 1.20 m 1.2 m




HEREE IR EE

<~ 7"—/LNo
180-3 ~ 180-4 EE (L) = 2.0 m X2 = 4.0 m
EMW) = 050 m

( |
e )
No. 180-4
| omaa
s i @
No. 180-3 l
. A-A
|
A=A Wi X (B 15 1H)
Il
Eas s y— B AL
EEYARE RRNNE
fEw 7t = =
i =i ES
4.00 m 4.00 m
HUFLER 1 T
((C_ 050 m + 4.00 m) X 2 )X 0.10 0.90 m?
o U —RT %
0.50 m X _ 4.00 m X_ 0.10 m 0.20 i
Wi TH
(A E% 1) 4.00 m 4.00 m




I LA R

Al i B =
No.l No.2 No.3 No.4
SR i PT 4 1 + 1 + 1 &1
No.1 No.2 No.3 No.4
ElZENR G0 3.90 X 4 3.90 1 +  3.60 X 1 +  3.60 26.70 26.7 m
No.l No.2
Sl SRR 0.95 X 4 0.95 1 +0.80 X 1 +0.80 6.35 6.4 m2
No.l No.2
A1 () 0.84 X 4 0.55 1+ 027 X 1+ 035 4.53 4.5 m3
No.l No.2
JREIA) 0.29 X 4 0.29 1+ 024 X 1+ 024 1.93 1.9 m3
No.l No.2
HEL AT 0.93 X 4 0.55 1 + 035 X 1 +0.43 5.05 5.1 m3
HSETAVE T ol
(FAER) 0.95 X 4 + 080 X 1+ 0.80 5.40 5.4 m2
HE TR T No.l
(FBAEYLAREA) 095 X 4 +0.80 X 1 + 0.80 5.40 5.4 m2
FERRET No.l
()8 :t=4cm) 095 X 4 + 080 X 1+ 0.80 5.40 5.4 m2
A PR T Ko
(FBAEYLAREA) 0.95 1 0.95 1.0 m2
fiihE TES%ET No.2
(FAERIERIEA) 0.95 1 0.95 1.0 m2
FERRET No.3
()8 :t=5cm) 0.95 1 0.95 1.0 m2
No.l No.2
AsBEMT LT 0.04 X 4 0.10 1+ 003 X 1+ 0.3 0.32 0.3 m3
No.l No.2
FA 0 0.10 X 4 0.23 1 + 012 X 1 +0.11 0.86 0.9 m3




A T EE No. 1
& Bl & B =
B
HIEE T No0.180-1 . No.180-2, No.180-3 ,No.180-3~No.180-4 4 &k
7K3EDP=0.97, ® 250 h= 1.22
) 1&ERTY7-0
iR T [= 1.00 m W= 0.95 m H= 1.22 m
S RO ( 1.00 + 095 )x 2 = 3.90 3.90 m
SR R A R 1.00 X 0.95 = 0.950 0.95 m2
h—-0.3m AsEittE
JEHI () 1.00 X 0.95 xX( 0.92 - 0.04 )= 0.836 0.84 m3
EHEI (A7) 1.00 X 0.95 X 0.30 = 0.285 0.29 m3
B+ AR
HEL CBETD) 1.00 X 0.95 X ( 1.22 - 0.24 )= 0.931 0.93 m3
5%74’/1/&‘_‘}% t=10cm
(AR 1.00 X 0.95 = 0.950 0.95 m2
ﬁﬁk%%aﬁl t=10cm
(FAYLIAREA) 1.00 X 0.95 = 0.950 0.95 m2
t=4cm
SERETL 1.00 X 0.95 = 0.950 0.95 m2
AsFEM ALFE 1.00 X 0.95 X 0.04 = 0.038 0.04 m3
W () A O HRL (EET)
e 0.84 + 0.29 - 093 X 1.11 = 0.098 0.10 m3




A T EE No. 2
& Bl &t B =
(fEPY)
IR BT No.180—4 1 55
E 71DP=0.58, ® 100X 4 h=0.98
) 1&ERTY7-0
SRR T [= 1.00 m W= 0.95 m H= 0.98 m
SRR B T ( 1.00 + 095 )X 2 = 3.90 3.90 m
SR R A R 1.00 X 0.95 = 0.950 0.95 m2
h—-0.3m AsEittE
JEHI () 1.00 X 0.95 xX( 0.68 - 0.10 )= 0.551 0.55 m3
EHEI (A7) 1.00 X 0.95 X 0.30 = 0.285 0.29 m3
B+ AR
HEL CBETD) 1.00 X 0.95 X ( 0.98 - 0.40 )= 0.551 0.55 m3
Al E Tk T t=15cm
(FAYLARER) 1.00 X 0.95 = 0.950 0.95 m2
e e s T t=20cm
(B AR A) 1.00 X 0.95 = 0.950 0.95 m2
t=5cm
XETL 1.00 X 0.95 = 0.950 0.95 m2
AsBEM WLFE 1.00 X 0.95 X 0.10 = 0.095 0.10 m3
W () A O HRL (EET)
FEAE AL 050 + 0.29 - 055 X 1.11 = 0.230 0.23 m3




A T EE No. 3
& Bl &t B ‘
B
HIEE T No.180-1 ~No.180-2 1 &t
EZDP=0.60, 80
) 1&ERTY7-0
iR T [= 1.00 m W= 0.80 0.68 m
S RO ( 1.00 + 0.80 )x 2 3.60 3.60 m
SR R A R 1.00 X 0.80 0.800 0.80 m2
h—-0.3m
JEHI () 1.00 X 0.80 X ( 0.38 0.272 0.27 m3
EHEI (A7) 1.00 X 0.80 X 0.30 = (.240 0.24 m3
B+ AR
HEL CBETD) 1.00 X 0.80 x( 0.68 0.352 0.35 m3
HIE T LA — t=10cm
(AR 1.00 X 0.80 = 0.800 0.80 m2
e bR AR T t=10cm
(FAYLIAREA) 1.00 X 0.80 0.800 0.80 m2
t=4cm
FET 1.00 X 0.80 0.800 0.80 m2
AsBER ALFR 1.00 X 0.80 X 0.04 0.032 0.03 m3
() A D) ML R+
e 027 + 024 - 0.35 0.122 0.12 m3




A T EE No. 4
& Bl &t B ‘
B
HIEE T No.180-2~No.180-3 1 &t
NTT DP=0.70., ®75
) 1&ERTY7-0
iR T [= 1.00 m W= 0.80 0.78 m
S RO ( 1.00 + 0.80 )x 2 3.60 3.60 m
SR R A R 1.00 X 0.80 0.800 0.80 m2
h—-0.3m
JEHI () 1.00 X 0.80 X ( 0.48 0.352 0.35 m3
EHEI (A7) 1.00 X 0.80 X 0.30 = (.240 0.24 m3
B+ AR
HEL CBETD) 1.00 X 0.80 x( 0.78 0.432 0.43 m3
HIE T LA — t=10cm
(AR 1.00 X 0.80 = 0.800 0.80 m2
e bR AR T t=10cm
(FAYLIAREA) 1.00 X 0.80 0.800 0.80 m2
t=4cm
FET 1.00 X 0.80 0.800 0.80 m2
AsBER ALFR 1.00 X 0.80 X 0.04 0.032 0.03 m3
() A D) ML R+
e 0.35 + 0.24 - 0.43 0.112 0.11 m3
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